
Divide by Powers of Ten (G)Find each quotient.
8.4 ÷ 10² = 9.17 ÷ 10¹ =
3.8 ÷ 10⁰ = 8.993 ÷ 10⁻² =
0.0245 ÷ 10⁻³ = 9.4033 ÷ 10⁻³ =
3.38 ÷ 10⁻³ = 5.73 ÷ 10⁻¹ =
1.0286 ÷ 10³ = 2.4256 ÷ 10² =
6.25 ÷ 10³ = 4.41 ÷ 10³ =
2.9433 ÷ 10⁻¹ = 3.61 ÷ 10⁻² =
7.1087 ÷ 10³ = 6.4 ÷ 10³ =
3.5809 ÷ 10² = 5.8823 ÷ 10² =
9.8025 ÷ 10⁻³ = 1.757 ÷ 10⁻¹ =
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Divide by Powers of Ten (G) AnswersFind each quotient.
8.4 ÷ 10² = 0.084 9.17 ÷ 10¹ = 0.917
3.8 ÷ 10⁰ = 3.8 8.993 ÷ 10⁻² = 899.3
0.0245 ÷ 10⁻³ = 24.5 9.4033 ÷ 10⁻³ = 9,403.3
3.38 ÷ 10⁻³ = 3,380 5.73 ÷ 10⁻¹ = 57.3
1.0286 ÷ 10³ = 0.0010286 2.4256 ÷ 10² = 0.024256
6.25 ÷ 10³ = 0.00625 4.41 ÷ 10³ = 0.00441
2.9433 ÷ 10⁻¹ = 29.433 3.61 ÷ 10⁻² = 361
7.1087 ÷ 10³ = 0.0071087 6.4 ÷ 10³ = 0.0064
3.5809 ÷ 10² = 0.035809 5.8823 ÷ 10² = 0.058823
9.8025 ÷ 10⁻³ = 9,802.5 1.757 ÷ 10⁻¹ = 17.57
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